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function [ px ] = Interpolation( xi, yi, x )
$Interpolation Return value of p at x
% where p interpolates the data points xi and yi

coef = NewtonDD( xi, yi );

n = length(xi);

px = coef(l)*ones (size(x));
for r=2:n
temp = ones(size(x));
for t=1l:r-1
temp = temp.* (x-x1i(t));
end

px = px + coef(r)*temp;
end

end
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% Plot p(x) and f(x), and compute error at 0:0.1:1.

]

Xiz[.z, -5, -81 .9 ];

yi = exp(xi).*cos (2*pi*xi);

x=0:1/1000:1;

[ px ] = Interpolation( xi, vi, x );

plot (x,exp(x) .*cos (2*pi*x), '-k',x,px, '--k',xi,yi, 'ok");

legend('f(x)', 'p(x)");

a=0:.1:1;

b=exp (a) .*cos (2*pi*a);

[ px ] = Interpolation( xi, yi, a );
err=abs (b-px) ;
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abs (b-px) '
ans =

4.4266
1.5743

0
0.5249
0.3786

0
0.2470
0.2058

0
0.0000
0.6760

format leng
abs (b-px) '

ans =

4.426602048290546
1.574339966474080

0
0.524896609039618
0.378631369562300

0
0.246959516382485
0.205803507921478

0
0.000000000000001
0.676025579709470
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